Downey Side Channel Restoration	Final Pl	nase			2		3	3		1
id Opening: March 29, 2022, 10:00 AM			Olson Brothers Excava 6622 112th St. E.	ating, Inc.	Active Construction In	С.	Scarsella Brothers In PO Box 68697	nc.	OMA Construction, In PO Box 429	nc.
isclaimer: These preliminary bid results are provided as	a convenie	nce to	Puyallup, WA 98373		Puyallup, WA 98371		Seattle, WA 98168-0)697	Maple Valley, WA 98	038
ontractors for informational purposes only and do not ide	entify lowest				,,				,	
esponsible bidder. Bid review by staff and final award pe	nding.									
		TOTAL		\$3,129,996.84		\$3,456,456.00		\$3,534,701.32		\$4,612,011.93
ITEM DESCRIPTION	QTY	UNIT	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.			PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
CUEDULE L. FARTUMORY AND CLTE PREPARATION										
CHEDULE I: EARTHWORK AND SITE PREPARATION 1000 Mobilization	1	LS	88,526.50	\$88,526.50	233,129.75	\$233,129.75	350,000.00	\$350,000.00	470,000.00	\$470,000.00
1005 Excavation, Including Haul and Disposal	87,000	BCY	17.75	\$1,544,250.00	16.00	\$233,129.75	16.45	\$350,000.00	28.00	\$470,000.00
1015 Watering for Dust Control	400	GAL	48.00	\$1,544,250.00	113.00	\$1,392,000.00	40.00	\$1,431,150.00	55.00	\$2,436,000.00
1020 Supply and Install Steel Plates	1	LS	7,157.50	\$7,157.50	3,200.00	\$3,200.00	2,500.00	\$2,500.00	15,000.00	\$15,000.00
1025 High Visibility Fence	1,225	LF	4.00	\$4,900.00	3,200.00	\$4,287.50	3.00	\$3,675.00	3.00	\$3,675.00
1030 Split Rail Fence	2,250	LF	15.00	\$33,750.00	14.50	\$32,625.00	13.50	\$30,375.00	25.00	\$56,250.00
1035 Project Sign Installation	2,230	EA	2,447.50	\$4,895.00	800.00	\$1,600.00	2,500.00	\$5,000.00	500.00	\$1,000.00
1040 Minor Changes	1	CALC	5,000.00	\$5,000.00	5,000.00	\$5,000.00	5,000.00	\$5,000.00	5,000.00	\$5,000.00
SUB TOTAL				\$1,707,679.00		\$1,717,042.25		\$1,843,700.00		\$3,008,925.00
10.1% SALES TAX				\$172,475.58		\$173,421.27		\$186,213.70		\$303,901.43
SCHEDULE I TOTAL				\$1,880,154.58		\$1,890,463.52		\$2,029,913.70		\$3,312,826.43
CHEDULE II: TEMPORARY WORK ISOLATION										
2000 Temporary Work Area Isolation Barriers	1	LS	32,054.50	\$32,054.50	63,000.00	\$63,000.00	15,000.00	\$15,000.00	125,000.00	\$125,000.00
2002 Temporary Work Area Isolation Barrier Installation,	1	LS	19,087.50	\$19,087.50	9,000.00	\$9,000.00	2,500.00	\$2,500.00	15,000.00	\$15,000.00
Maintenance and Removal Plan		20	. , , 55 , 155	\$177007100	7,000.00	47,000.00	2,000.00	42/000.00	10,000.00	4.07000.00
2005 Temporary Floating Turbidity Curtain	400	LF	38.00	\$15,200.00	54.50	\$21,800.00	40.00	\$16,000.00	50.00	\$20,000.00
2010 Fish Handling	1	FA	15,000.00	\$15,000.00	15,000.00	\$15,000.00	15,000.00	\$15,000.00	15,000.00	\$15,000.00
SUB TOTAL				¢01 242 00		¢100 000 00		\$48 E00 00		¢175 000 00
10.1% SALES TAX				\$81,342.00 \$8,215.54		\$108,800.00 \$10,988.80		\$48,500.00 \$4,898.50		\$175,000.00 \$17,675.00
SCHEDULE II TOTAL				\$89,557.54		\$10,788.80		\$53,398.50		\$17,675.00
				, ,				, ,		, , ,
CHEDULE V: TRAFFIC CONTROL										
5005 Traffic Control Labor	200	HR	56.50	\$11,300.00	65.00	\$13,000.00	65.00	\$13,000.00	75.00	\$15,000.00
5010 Traffic Control Supervisor	50	HR	98.50	\$4,925.00	77.00	\$3,850.00	92.50	\$4,625.00	100.00	\$5,000.00
5015 Construction Signs Class A	250	SF	8.00	\$2,000.00	30.00	\$7,500.00	20.00	\$5,000.00	8.00	\$2,000.00
5020 Temporary Traffic Control Devices	1	LS	2,181.50	\$2,181.50	4,000.00	\$4,000.00	5,000.00	\$5,000.00	15,000.00	\$15,000.00
SUB TOTAL				\$20,406.50		\$28,350.00		\$27,625.00		\$37,000.00
10.1% SALES TAX				\$2,061.06		\$2,863.35		\$2,790.13		\$3,737.00
SCHEDULE V TOTAL				\$22,467.56		\$31,213.35		\$30,415.13		\$40,737.00
CHEDULE VII: TEMPORARY EROSION AND SEDIMENTAT			2 740 00	#3/ EE3 7 E	4 200 00	¢40.050.00	2 775 00	#27.007.0E	4 000 00	#20.000.00
7000 Seeding, Fertilizing, and Mulching	9.75	AC	3,749.00	\$36,552.75	4,200.00	\$40,950.00	3,775.00	\$36,806.25	4,000.00	\$39,000.00
7002 Hand Seeding	1,200	SY	2.00	\$2,400.00	1.00	\$1,200.00	1.25	\$1,500.00	5.00	\$6,000.00
7005 Erosion Control Blanket Installation7030 ESC Lead	11,400 100	SY HR	3.00 72.00	\$34,200.00 \$7,200.00	3.25 1.00	\$37,050.00 \$100.00	3.75 100.00	\$42,750.00 \$10,000.00	8.00 125.00	\$91,200.00 \$12,500.00
7030 ESC Lead 7035 Street Cleaning	200	HR HR	138.00	\$7,200.00	155.00	\$31,000.00	175.00	\$10,000.00	100.00	\$12,500.00
7055 Erosion/Water Pollution Control	200	FA	10,000.00	\$10,000.00	10,000.00	\$10,000.00	10,000.00	\$10,000.00	10,000.00	\$20,000.00
7060 Streambed Gravel	11	TON	154.00	\$1,694.00	91.50	\$1,006.50	150.00	\$10,000.00	10,000.00	\$10,000.00
7000 Streambed Graver	1	FA	15,000.00	\$15,000.00		\$15,000.00		\$15,000.00	15,000.00	\$15,000.00

	ney Side Channel Restoration F	inai Pi	nase			2			3	4	
id Ope	ning: March 29, 2022, 10:00 AM			Olson Brothers Excava	iting, Inc.	Active Construction I	nc.	Scarsella Brothers Ir	IC.	OMA Construction, In	c.
icclaiı	mer: These preliminary bid results are provided as a	convenier	nce to	6622 112th St. E.		PO Box 430		PO Box 68697	v. 0.7	PO Box 429	20
	tors for informational purposes only and do not iden			Puyallup, WA 98373		Puyallup, WA 98371		Seattle, WA 98168-0	1097	Maple Valley, WA 980	138
	ible bidder. Bid review by staff and final award pend										
30 p 00	solo siduoi. Ela romon sy ciair ana imarana pene	9.	TOTAL		\$3,129,996.84		\$3,456,456.00		\$3,534,701.32		\$4,612,011.93
ITEM	DESCRIPTION	QTY	UNIT	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.				PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
	SUB TOTAL				\$134,646.75		\$136,306.50		\$152,706.25		\$194,800.00
	10.1% SALES TAX				\$13,599.32		\$13,766.96		\$15,423.33		\$19,674.80
	SCHEDULE VII TOTAL				\$148,246.07		\$150,073.46		\$168,129.58		\$214,474.80
HEDL	JLE VIII: RESTORATION										
8000	Side Channel Habitat Structure Type 1	22	EA	2,967.00	\$65,274.00	2,100.00	\$46,200.00	2,240.00	\$49,280.00	1,200.00	\$26,400.0
8005	Floodplain Habitat Structure Type 2	18	EA	2,967.00	\$53,406.00	1,950.00	\$35,100.00	2,240.00	\$40,320.00	1,500.00	\$27,000.0
8010	Side Channel Inlet Structures Type 3	3	EA	56,783.00	\$170,349.00	107,545.00	\$322,635.00	102,800.00	\$308,400.00	2,500.00	\$7,500.0
8015	Low Flow Eddy Habitat Structure Type 4	1	EA	16,559.50	\$16,559.50	10,340.00	\$10,340.00	15,000.00	\$15,000.00	5,000.00	\$5,000.0
8020	Timber Pile, Furnish - Side Channel Habitat Structure	44	EA	1,336.00	\$58,784.00	500.00	\$22,000.00	450.00	\$19,800.00	800.00	\$35,200.0
8030	Type 1 Timber Pile, Furnish - Side Channel Inlet Structures	48	EA	1,336.00	\$64,128.00	1,365.00	\$65,520.00	1,225.00	\$58,800.00	600.00	\$28,800.0
8035	Type 3 Timber Pile, Furnish - Low Flow Eddy Habitat Structure Type 4	2	EA	1,336.00	\$2,672.00	835.00	\$1,670.00	750.00	\$1,500.00	6,500.00	\$13,000.0
8040	Installation of Timber Piles	4,000	LF	20.00	\$80,000.00	50.00	\$200,000.00	43.00	\$172,000.00	15.00	\$60,000.0
3045	Log - Type 1	15	EA	767.00	\$11,505.00	920.00	\$13,800.00	790.00	\$11,850.00	500.00	\$7,500.0
8050	Log - Type 2	18	EA	539.50	\$9,711.00	675.00	\$12,150.00	460.00	\$8,280.00	300.00	\$5,400.0
	Log - Type 3	71	EA	801.00	\$56,871.00	965.00	\$68,515.00	1,060.00	\$75,260.00	400.00	\$28,400.0
8060	Log - Type 4	9	EA	835.00	\$7,515.00	1,000.00	\$9,000.00	1,210.00	\$10,890.00	500.00	\$4,500.0
8065	Log - Type 5	9	EA	573.50	\$5,161.50	715.00	\$6,435.00	655.00	\$5,895.00	600.00	\$5,400.0
8070	Log - Type 6	69	EA	869.00	\$59,961.00	1,040.00	\$71,760.00	1,290.00	\$89,010.00	700.00	\$48,300.0
8075	Log - Type 7	12	EA	914.50	\$10,974.00	1,100.00	\$13,200.00	1,360.00	\$16,320.00	800.00	\$9,600.0
8080	Log - Type 8	15	EA	608.00	\$9,120.00	745.00	\$11,175.00	735.00	\$11,025.00	900.00	\$13,500.0
8085	Log - Type 9	6	EA	647.50	\$3,885.00	805.00	\$4,830.00	960.00	\$5,760.00	1,000.00	\$6,000.0
8090	Log - Type 10	22	EA	772.50	\$16,995.00	935.00	\$20,570.00	855.00	\$18,810.00	1,500.00	\$33,000.0
8095	Log - Type 11	5	EA	852.00	\$4,260.00	1,010.00	\$5,050.00	875.00	\$4,375.00	2,500.00	\$12,500.0
	Log - Type 12	22	EA	727.00	\$15,994.00	875.00	\$19,250.00	730.00	\$16,060.00	2,600.00	\$57,200.0
	Compost Amendment	2,900	CY	37.50	\$108,750.00	50.00	\$145,000.00	45.00	\$130,500.00	72.00	\$208,800.0
8115	Mulch Placement (Stockpiled Mulch)	5,700	CY	7.50	\$42,750.00	5.00	\$28,500.00	10.00	\$57,000.00	18.00	\$102,600.0
	SUB TOTAL				\$874,625.00		\$1,132,700.00		\$1,126,135.00		\$745,600.00
	10.1% SALES TAX				\$88,337.13		\$114,402.70		\$113,739.64		\$75,305.60
	SCHEDULE VIII TOTAL				\$962,962.13		\$1,247,102.70		\$1,239,874.64		\$820,905.60
	JLE X: ROAD				.		1				
0000	Remove and Dispose of Existing Asphalt Concrete Pavement	105	SY	15.50	\$1,627.50	14.50	\$1,522.50	20.00	\$2,100.00	12.00	\$1,260.0
0005	Saw Cut Existing Asphalt Concrete Pavement	585	LF	9.00	\$5,265.00	3.50	\$2,047.50	3.00	\$1,755.00	5.00	\$2,925.0
0010	Concrete Strip	85	SF	51.00	\$4,335.00	44.00	\$3,740.00	15.00	\$1,275.00	85.00	\$7,225.0
0015	HMA Class 1/2", PG 58V-22	6	TON	1,200.00	\$7,200.00	295.00	\$1,770.00	425.00	\$2,550.00	1,500.00	\$9,000.0
	SUB TOTAL				\$18,427.50		\$9,080.00		\$7,680.00		\$20,410.0
	10.1% SALES TAX				\$1,861.18		\$917.08		\$775.68		\$2,061.4
	SCHEDULE X TOTAL				\$20,288.68		\$9,997.08		\$8,455.68		\$22,471.4

Dow	ney Side Channel Restoration F	Final P	hase			2		3		4	4
Bid Ope	ening: March 29, 2022, 10:00 AM	Olson Brothers Excava	<u>.</u>	Active Construction In	nc.	Scarsella Brothers Inc PO Box 68697	<u>.</u>	OMA Construction, Inc. PO Box 429			
Disclai	Disclaimer: These preliminary bid results are provided as a convenience to					Puyallup, WA 98371		Seattle, WA 98168-06	597	Maple Valley, WA 98	038
	contractors for informational purposes only and do not identify lowest responsible bidder. Bid review by staff and final award pending.										
		3	TOTAL		\$3,129,996.84		\$3,456,456.00		\$3,534,701.32		\$4,612,011.93
ITEM	DESCRIPTION	QTY	UNIT	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.				PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
SCHED	ULE XI: TRAIL										
11000	Remove and Dispose of Existing Crushed Surfacing Base Course	475	SY	5.50	\$2,612.50	9.50	\$4,512.50	5.00	\$2,375.00	12.00	\$5,700.00
11005	Crushed Surfacing Base Course, 1/4 Inch Minus	23	TON	136.00	\$3,128.00	112.50	\$2,587.50	75.00	\$1,725.00	65.00	\$1,495.00
	SUB TOTAL				\$5,740.50		\$7,100.00		\$4,100.00		\$7,195.00
	10.1% SALES TAX SCHEDULE XI TOTAL				\$579.79 \$6,320.29		\$717.10 \$7,817.10		\$414.10 \$4,514.10		\$726.70 \$7,921.70
	SUMMARY:										
	SCHEDULE I TOTAL				\$1,880,154.58		\$1,890,463.52		\$2,029,913.70		\$3,312,826.43
	SCHEDULE II TOTAL SCHEDULE V TOTAL				\$89,557.54		\$119,788.80		\$53,398.50		\$192,675.00 \$40,737.00
	SCHEDULE VIOTAL SCHEDULE VII TOTAL				\$22,467.56 \$148,246.07		\$31,213.35 \$150,073.46		\$30,415.13 \$168,129.58		\$40,737.00 \$214,474.80
	SCHEDULE VIII TOTAL				\$962,962.13		\$1,247,102.70		\$1,239,874.64		\$820,905.60
	SCHEDULE X TOTAL				\$20,288.68		\$9,997.08		\$8,455.68		\$22,471.41
	SCHEDULE XI TOTAL				\$6,320.29		\$7,817.10		\$4,514.10		\$7,921.70
	CONSTRUCTION	CONTRAC	T TOTAL		\$3,129,996.84		\$3,456,456.00		\$3,534,701.32		\$4,612,011.93

Downey Side Channel Restoration	Final P	hase	Ę	5		6		7		
id Opening: March 29, 2022, 10:00 AM			Kiewit Infrastructure		Johansen Construction	on Co.	Rodarte Construction		Engineer's Estimate Melissa Dahl	
Disclaimer: These preliminary bid results are provided a	as a convenie	nce to	2200 Columbia Hous Vancouver, WA 9866		PO Box 674 Buckley, WA 98231		17 East Valley Highv Auburn, WA 98092	vay E.	Melissa Dani	
ontractors for informational purposes only and do not id	dentify lowest	t								
esponsible bidder. Bid review by staff and final award p	ending.									
		TOTAL		\$5,055,681.90		\$5,413,693.74		\$6,058,015.79		\$4,113,743.37
ITEM DESCRIPTION	QTY	UNIT	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.			PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
CUEDULE L. FARTUMORY AND CITE PREPARATION										
CHEDULE I: EARTHWORK AND SITE PREPARATION 1000 Mobilization	1	LS	535,000.00	\$535,000.00	343,000,00	\$342,000.00	481,000.00	\$481,000.00	220,000.00	\$220,000.00
1005 Excavation, Including Haul and Disposal	87,000	BCY	28.00	\$2,436,000.00	342,000.00 32.50	\$2,827,500.00	481,000.00	\$3,671,400.00	· ·	\$2,001,000.00
1015 Watering for Dust Control	400	GAL	10.00	\$4,000.00	1.25	\$2,827,500.00	2.00	\$3,671,400.00		\$2,001,000.00
1020 Supply and Install Steel Plates	1	LS	16,000.00	\$16,000.00	24,336.00	\$24,336.00	7,500.00	\$7,500.00		\$3,000.00
1025 High Visibility Fence	1,225	LF	6.00	\$7,350.00	4.70	\$5,757.50	5.00	\$6,125.00	5.00	\$6,125.00
1030 Split Rail Fence	2,250	LF	15.00	\$33,750.00	16.95	\$38,137.50	14.00	\$31,500.00		\$45,000.00
1035 Project Sign Installation	2,230	EA	1,500.00	\$3,000.00	1,276.00	\$2,552.00	700.00	\$1,400.00		\$2,500.00
1040 Minor Changes	1	CALC	5,000.00	\$5,000.00	5,000.00	\$5,000.00	5,000.00	\$5,000.00	5,000.00	\$5,000.00
•										
SUB TOTAL				\$3,040,100.00		\$3,245,783.00		\$4,204,725.00		\$2,306,625.00
10.1% SALES TAX				\$307,050.10		\$327,824.08		\$424,677.23		\$232,969.13
SCHEDULE I TOTAL				\$3,347,150.10		\$3,573,607.08		\$4,629,402.23		\$2,539,594.13
CHEDULE II: TEMPORARY WORK ISOLATION										
2000 Temporary Work Area Isolation Barriers	1	LS	40,000.00	\$40,000.00	120,000.00	\$120,000.00	32,000.00	\$32,000.00	215,000.00	\$215,000.00
2002 Temporary Work Area Isolation Barrier Installation,	1	LS	10,000.00	\$10,000.00	1,000.00	\$1,000.00	1,000.00	\$1,000.00		\$5,000.00
Maintenance and Removal Plan			.,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , ,	, , ,	, , , , , , , , , , , , , , , , , , , ,	, ,		, . ,
2005 Temporary Floating Turbidity Curtain	400	LF	25.00	\$10,000.00	88.00	\$35,200.00	28.00	\$11,200.00	55.00	\$22,000.00
2010 Fish Handling	1	FA	15,000.00	\$15,000.00	15,000.00	\$15,000.00	15,000.00	\$15,000.00	15,000.00	\$15,000.00
SUB TOTAL				\$75,000.00		\$171,200.00		\$59,200.00		\$257,000.00
10.1% SALES TAX				\$7,575.00		\$17,291.20		\$5,979.20		\$25,957.00
SCHEDULE II TOTAL				\$82,575.00		\$188,491.20		\$65,179.20		\$282,957.00
CHEDULE V: TRAFFIC CONTROL	200	LID	1.00	\$200.00	74.00	¢14 000 00	40.00	¢12,000,00	70.00	¢14.000.00
5005 Traffic Control Labor 5010 Traffic Control Supervisor	200 50	HR HR	1.00 1.00	\$200.00 \$50.00	74.00 112.00	\$14,800.00 \$5,600.00	60.00 60.00	\$12,000.00 \$3,000.00	70.00 90.00	\$14,000.00 \$4,500.00
5010 Traffic Control Supervisor 5015 Construction Signs Class A	250	HR SF	130.00	\$32,500.00	18.00	\$4,500.00	25.00	\$3,000.00		\$4,500.00 \$5,000.00
5020 Temporary Traffic Control Devices	1	LS	75,000.00	\$75,000.00	2,620.00	\$2,620.00	2,000.00	\$2,000.00		\$7,500.00
			,	***************************************	_,	+=,-==	_,,,,,,,,	7-/	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	71,755.55
SUB TOTAL				\$107,750.00		\$27,520.00		\$23,250.00		\$31,000.00
10.1% SALES TAX				\$10,882.75		\$2,779.52		\$2,348.25		\$3,131.00
SCHEDULE V TOTAL				\$118,632.75		\$30,299.52		\$25,598.25		\$34,131.00
CHEDULE VII: TEMPORARY EROSION AND SEDIMENTA	TION CONTR	OL								
7000 Seeding, Fertilizing, and Mulching	9.75	AC	4,000.00	\$39,000.00	4,269.00	\$41,622.75	3,500.00	\$34,125.00	5,000.00	\$48,750.00
7002 Hand Seeding	1,200	SY	1.75	\$2,100.00	1.05	\$1,260.00	1.75	\$2,100.00		\$12,000.00
7005 Erosion Control Blanket Installation	11,400	SY	6.00	\$68,400.00	10.50	\$119,700.00	5.00	\$57,000.00		\$57,000.00
7030 ESC Lead	100	HR	10.00	\$1,000.00	75.00	\$7,500.00	50.00	\$5,000.00	90.00	\$9,000.00
7035 Street Cleaning	200	HR	155.00	\$31,000.00	150.00	\$30,000.00	175.00	\$35,000.00		\$34,000.00
7055 Erosion/Water Pollution Control	1	FA	10,000.00	\$10,000.00	10,000.00	\$10,000.00	10,000.00	\$10,000.00	10,000.00	\$10,000.00
7060 Streambed Gravel	11	TON	100.00	\$1,100.00	1.45	\$15.95	150.00	\$1,650.00	120.00	\$1,320.00
7065 Dewatering	1	FA	15,000.00	\$15,000.00	15,000.00	\$15,000.00	15,000.00	\$15,000.00	15,000.00	\$15,000.00

Bid One	ening: March 29, 2022, 10:00 AM	Kiewit Infrastructure	West Co.	Johansen Construction	on Co.	Rodarte Construction	ı. Inc.	Engineer's Estimate			
. 9				2200 Columbia Hous		PO Box 674		17 East Valley Highw	•	Melissa Dahl	
Disclai	mer: These preliminary bid results are provided as a	convenie	nce to	Vancouver, WA 9866	51	Buckley, WA 98231		Auburn, WA 98092	3		
	tors for informational purposes only and <u>do not</u> ident	-									
respons	sible bidder. Bid review by staff and final award pend	ing.									
17514	DECODIDETION	O.T./	TOTAL		\$5,055,681.90		\$5,413,693.74	LINUT	\$6,058,015.79	LINUT	\$4,113,743.37
ITEM	DESCRIPTION	QTY	UNIT	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.				PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
	SUB TOTAL				\$167,600.00		\$225,098.70		\$159,875.00		\$187,070.00
	10.1% SALES TAX				\$16,927.60		\$22,734.97		\$16,147.38		\$18,894.0
	SCHEDULE VII TOTAL				\$184,527.60		\$247,833.67		\$176,022.38		\$205,964.0
	JLE VIII: RESTORATION			40.000.00	*****	5 000 00	*100.000.00	4 000 00	****	0.000.00	***
8000	Side Channel Habitat Structure Type 1	22	EA	10,000.00	\$220,000.00	5,900.00	\$129,800.00	1,800.00	\$39,600.00	3,000.00	\$66,000.0
8005	Floodplain Habitat Structure Type 2	18	EA	9,000.00	\$162,000.00	5,335.00	\$96,030.00	1,500.00	\$27,000.00	2,000.00	\$36,000.0
8010	Side Channel Inlet Structures Type 3	3	EA	40,000.00	\$120,000.00	24,688.00	\$74,064.00	65,000.00	\$195,000.00	78,000.00	\$234,000.0
8015	Low Flow Eddy Habitat Structure Type 4	1	EA	7,000.00	\$7,000.00	21,237.00	\$21,237.00	14,000.00	\$14,000.00	9,000.00	\$9,000.0
8020	Timber Pile, Furnish - Side Channel Habitat Structure Type 1	44	EA	550.00	\$24,200.00	481.00	\$21,164.00	500.00	\$22,000.00	425.00	\$18,700.0
8030	Timber Pile, Furnish - Side Channel Inlet Structures	48	EA	650.00	\$31,200.00	1,766.00	\$84,768.00	1,300.00	\$62,400.00	625.00	\$30,000.0
8035	Type 3 Timber Pile, Furnish - Low Flow Eddy Habitat Structure	2	EA	650.00	\$1,300.00	940.00	\$1,880.00	1,700.00	\$3,400.00	425.00	\$850.0
0033	Type 4	2	LA	030.00	\$1,500.00	740.00	\$1,000.00	1,700.00	\$3,400.00	423.00	Ψ030.
8040	Installation of Timber Piles	4,000	LF	33.00	\$132,000.00	78.00	\$312,000.00	55.00	\$220,000.00	35.00	\$140,000.
8045	Log - Type 1	15	EA	900.00	\$13,500.00	802.00	\$12,030.00	800.00	\$12,000.00	425.00	\$6,375.
8050	Log - Type 2	18	EA	350.00	\$6,300.00	564.00	\$10,152.00	600.00	\$10,800.00	275.00	\$4,950.0
8055	Log - Type 3	71	EA	1,000.00	\$71,000.00	838.00	\$59,498.00	850.00	\$60,350.00	575.00	\$40,825.0
8060	Log - Type 4	9	EA	1,000.00	\$9,000.00	873.00	\$7,857.00	900.00	\$8,100.00	625.00	\$5,625.0
8065	Log - Type 5	9	EA	500.00	\$4,500.00	600.00	\$5,400.00	600.00	\$5,400.00	375.00	\$3,375.0
8070	Log - Type 6	69	EA	1,100.00	\$75,900.00	909.00	\$62,721.00	900.00	\$62,100.00	725.00	\$50,025.0
8075	Log - Type 7	12	EA	1,100.00	\$13,200.00	956.00	\$11,472.00	900.00	\$10,800.00	775.00	\$9,300.
8080	Log - Type 8	15	EA	500.00	\$7,500.00	636.00	\$9,540.00	650.00	\$9,750.00	425.00	\$6,375.
8085	Log - Type 9	6	EA	550.00	\$3,300.00	677.00	\$4,062.00	700.00	\$4,200.00	425.00	\$2,550.
8090	Log - Type 10	22	EA	900.00	\$19,800.00	808.00	\$17,776.00	800.00	\$17,600.00	375.00	\$8,250.
8095	Log - Type 11	5	EA	700.00	\$3,500.00	891.00	\$4,455.00	900.00	\$4,500.00	725.00	\$3,625.
8100	Log - Type 12	22	EA	900.00	\$19,800.00	761.00	\$16,742.00	750.00	\$16,500.00	375.00	\$8,250.
8110	Compost Amendment	2,900	CY	50.00	\$145,000.00	51.00	\$147,900.00	45.00	\$130,500.00	55.00	\$159,500.
8115	Mulch Placement (Stockpiled Mulch)	5,700	CY	15.00	\$85,500.00	21.00	\$119,700.00	18.00	\$102,600.00	15.00	\$85,500.0
	SUB TOTAL				\$1,175,500.00		\$1,230,248.00		\$1,038,600.00		\$929,075.0
	10.1% SALES TAX				\$118,725.50		\$124,255.05		\$104,898.60		\$93,836.5
	SCHEDULE VIII TOTAL				\$1,294,225.50		\$1,354,503.05		\$1,143,498.60		\$1,022,911.5
	WEY 2002										
10000	JLE X: ROAD Remove and Dispose of Existing Asphalt Concrete	105	SY	12.00	¢1 24E 00	18.00	¢1 000 00	13.00	¢1 2/E 00	35.00	¢2.425.4
10000	Pavement	105	31	13.00	\$1,365.00	18.00	\$1,890.00	13.00	\$1,365.00	25.00	\$2,625.0
10005	Saw Cut Existing Asphalt Concrete Pavement	585	LF	3.00	\$1,755.00	4.70	\$2,749.50	4.00	\$2,340.00	12.00	\$7,020.0
10010	Concrete Strip	85	SF	38.00	\$3,230.00	102.00	\$8,670.00	32.00	\$2,720.00	30.00	\$2,550.0
10015	HMA Class 1/2", PG 58V-22	6	TON	700.00	\$4,200.00	130.00	\$780.00	800.00	\$4,800.00	140.00	\$840.0
	SUB TOTAL				\$10,550.00		\$14,089.50		\$11,225.00		\$13,035.0
	10.1% SALES TAX				\$1,065.55		\$1,423.04		\$1,133.73		\$1,316.5
	SCHEDULE X TOTAL				\$11,615.55		\$15,512.54		\$12,358.73		\$14,351.54

Dow	ney Side Channel Restoration I	Final P	hase	į	5	6	b		7		
Bid Ope	ening: March 29, 2022, 10:00 AM	Kiewit Infrastructure		Johansen Construction	on Co.	Rodarte Construction 17 East Valley High	Engineer's Estimate Melissa Dahl				
contrac					1	Buckley, WA 98231		Auburn, WA 98092		Wenssa Barn	
·		<u> </u>	TOTAL		\$5,055,681.90		\$5,413,693.74		\$6,058,015.79		\$4,113,743.37
ITEM NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
SCHEDU	JLE XI: TRAIL										
11000	Remove and Dispose of Existing Crushed Surfacing Base Course	475	SY	30.00	\$14,250.00	4.00	\$1,900.00	8.00	\$3,800.00	25.00	\$11,875.00
11005	Crushed Surfacing Base Course, 1/4 Inch Minus	23	TON	50.00	\$1,150.00	53.50	\$1,230.50	70.00	\$1,610.00	30.00	\$690.00
	SUB TOTAL				\$15,400.00		\$3,130.50		\$5,410.00		\$12,565.00
	10.1% SALES TAX SCHEDULE XI TOTAL				\$1,555.40 \$16,955.40		\$316.18 \$3,446.68		\$546.41 \$5,956.41		\$1,269.07 \$13,834.07
	SUMMARY:										
	SCHEDULE I TOTAL SCHEDULE II TOTAL				\$3,347,150.10 \$82,575.00		\$3,573,607.08 \$188,491.20		\$4,629,402.23 \$65,179.20		\$2,539,594.13 \$282,957.00
	SCHEDULE V TOTAL SCHEDULE VII TOTAL				\$118,632.75		\$30,299.52		\$25,598.25		\$34,131.00
	SCHEDULE VII TOTAL SCHEDULE VIII TOTAL				\$184,527.60 \$1,294,225.50		\$247,833.67 \$1,354,503.05		\$176,022.38 \$1,143,498.60		\$205,964.07 \$1,022,911.58
	SCHEDULE X TOTAL				\$11,615.55		\$15,512.54		\$12,358.73		\$14,351.54
	SCHEDULE XI TOTAL				\$16,955.40		\$3,446.68		\$5,956.41		\$13,834.07
	CONSTRUCTION	CONTRAC	T TOTAL		\$5,055,681.90		\$5,413,693.74		\$6,058,015.79		\$4,113,743.37